
: ÜÜÜÜ 34 H HÜ H ‹ HrHHÞ GG¢

out of tempo

H H GGÞGGÞHH ø

I  SHOULD  HAVE  KNOWN

H H H ‹H ‹H ‹Þ HrHH H ‹H ‹ÞH ‹ HÞ GG
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= ÜÜÜÜ 34 H H H HH G
with lots of pedal
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: ÜÜÜÜ 44 H ‹Þ H ‹ÞH ‹Ú HÞ r HÜ HÞ HGGÜ
ð 140
tempo H ‹H ‹ÞH ‹Þ HÞ rH H H HGÜ H ‹Þ H ‹H ‹Þ H ‹ Hr H ‹ÜH ‹H ‹ H H
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: ÜÜÜÜ G ‹ÞG ‹Þ G ‹Ú HÜ HÞGG … H ‹Ü Hr HÞ HÞ HHÜHÜ GÞGÞ† H ‹Ü HÜ r HÞ H HGÞGÚ GGGÚ
= ÜÜÜÜ H H HÞ H H{ H ‹Ü HÜ H H HÞ H H H{ H HÞ H{… …

: ÜÜÜÜ H ‹Ú HÚ r H ‹Þ HÞ HGÞ GÚ GÞ GÞGÞ GÞ G ‹Ü HÜ HHÞ HÜ GG† H ‹Þ H ‹H ‹Þ H ‹ Hr H H HGÜGÞ G
= ÜÜÜÜ HÞ{ HÞ H{ H… … HÜ

HÜ H Hr H ‹GÜ HÞ HÞ HÞ H ‹…



: ÜÜÜÜ H ‹Þ H ‹H ‹Þ H ‹Þ Hr H H HGÞG H ‹Þ H ‹H ‹Þ H ‹ Hr H
r H H HGGÞ G ‹ H HG ‹Ü

I should have known p.2

= ÜÜÜÜ HÞ{
HÞ H{ H ‹Ü… Hr H GÞGÞ… H H HÜ H GÜH{ H ‹

: ÜÜÜÜ 34H ‹ HÞ r HÜ r H HrGG H ‹Þ Hr H H HGGÞ G GG HÞ H HÞ
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HÞ H
GÞ GGÚ G ‹G ‹ÜG ‹ HrG G

…

= ÜÜÜÜ 34H HÞ H GGÞ HÜ H H
rit

HÞ{ H HÜ{ H H{… G GÞGÞH{ H H{
HÜ { H HÜ H H H…

: ÜÜÜÜ 34 H H H ‹ HrHHÞ GG
out of tempo

H H GGÜGGÜHH H H H ‹H ‹ÜH ‹Þ HrHH H ‹H ‹ÞH ‹ HÞ GG
= ÜÜÜÜ 34 H H H HH G H H H H

H H H HH G H H H HH G

: ÜÜÜÜ 44 34H HÞ H ‹Þ HrHHÚ GG H H GGÞGG H HH ø H ‹ Hr H H G H H

= ÜÜÜÜ 44 34HHÞ H H H HH H{ HÞ{ H ‹…° Hr GG ‹… Hr H H HG ‹…

: ÜÜÜÜ H H H H HGGÞ G H HÞ G G G ‹
G ‹G ‹Â

= ÜÜÜÜ HÞ rHG ‹† … Hr HÜ H HG ‹…
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H H H H H HG ‹ H H H H H HG ‹ G ‹ G ‹


